(%)
=
'_
<
=
=)
wl
=
o

BEARBBETEERE AIRBEST scrics

Basic Vacuum Pump

AZH Series

'f' ) ( ( “!‘:-F' AZH B __ 1) Nozzle Diameter(TH & #2)(mm)
& 74 '~ (j AzH07/D(Sl-o1-01-01 |7
@

L

“\ @) @ ® ® 10 1.0

( s (2) Max.vacuum Pressure 13 13

;\ a “';.,, " (’ (%%EE’EE) 15 15

S —88kPa 18 1.8

L -48kPa 20 2.0

(3) SUP. Port Size(il 0 & M13) @VAC. Port Size(i® 0% # O1R) (5 EXH. Port Size(i® 0% # 01R)

ey |SielR)| syt ey |SzeR|  syleqean) Symbzgla?) S'Z:)(:;‘T) One_f;i':;f@i o
06 ©06  |One-touch(R#Hek) 06 ®06  |One-touch(fR#iEk) 08 ®08  |One—touch(fR#iEsk)
08 ®08  |One-touch(tRifi%K) 10 ©10  |One-touch(tR#izk) 10 ®10  |One-touch(tk#izsk)
10 ®10  |[One-touch(fR#iEk) 12 ©12  |One-touch(fR#iEk) 12 ®12  |One-touch(fR#iEk)
12 ®12  |One-touch(th#iiEsk) 16 ©16  |One—touch(bRiiEsk) 16 ©16  |One—touch(bRiiEsk)
01 Rc 1/8 | Screw—in(8B8UFA) 01 Rc 1/8 | Screw-in(#BEGFN) 01 Rc 1/8 | Screw—in(#B&ETA)
02 Rc 1/4 | Screw-in(8B8U4T\) 02 Rc 1/4 | Screw—in(#24U3FN) 02 Rc 1/4 | Screw—in(#24U33N\)
03 Rc 3/8 | Screw-in(#4U7A\) 03 Rc 3/8 | Screw—in(#2437 ) 03 Rc 3/8 | Screw—in(#243F\)
04 Rc 1/2 | Screw-in(#283TA\) 04 Rc 1/2 | Screw-in(#243T )

Specifications(3 AR #4&)

Max.vacuum Pressure|  Max.vacuum Flow | Air Consumption : -
i P = i gy Connection(One-touch/Screw—-in)
Nozzle Diamet = e e e > fouch/Sc
Model@e) | mmam | BodySte (.5 7 tedis) BARZRE) | (EUIER) | epppinis /B
odel(25) | (WEER) (EHRR) (kpa) I/min I/min
®mm S Style(®) | L Style(2)| S Style(%) | L Style(E)| S Syle@)L Style(®)|  SUP VAC EXH
AZHO05B[] 0.5 5 9 13.5
AZHO7BO 0.7 Box Style 12 22 235 ®6/Rc1/8 | OERci/s
(Built-in Silencer) -88 -48 __
AZH10B[ 1.0 ER(NBNER) 24 34 46
AZH13B[] 1.3 40 75 78 ®8/Rc1/8 | ®10/Rc1/4
AZH05DL[] 0.5 7.5 9 13.5
Body Ported Style ®6/Rc1/8 | ®6/Rc1/8 | ®6/Rc1/8
AZHO7D[] 0.7 (Without Silencer) 12 22 23.5
HEREN -8 48
AZH10D[] 1.0 () 24 34 46 ®6/Rc1/8 | ®6/Rc1/8 | ®8/Rc1/8
HE
AZH13D[ 1.3 40 75 78 ®8/Rc1/8 | ®10/Rc1/4 |® 10/Rcl/4
AZH15D[] 1.5 Body Ported Style 60 80 97 ®10/Rc1/4 ©12/Re3/8 | 0 12/Rc3/8
(Without Silencer) C. C
AZH18D[] 1.8 HiEERER -88 -53 70 110 150 ®12/Rc3/8
AZH20D[] 2.0 (EiEER) 85 140 185 ®12/Rc3/8| ® 16/Rc1/2 | ® 16/Rc1/2

*Supply Pressure({£44 £ /7):4 .5barks
Dimensions (mm)(5ME R T (ZXK))

Box Style (Buit—in Silencer)& (K & & 5 28)
One-touch Connection (¥ k&)

) oL

5 A Model®S) [A|B|C|D|E|F|G|H|Q|L]|K]|J
AZH05B-06-06 | 60 | 16 | 31 |58 | 2 (32|47 |22 24| 6 | 5 | 6

mF AZHO7B-06-06 | 60 | 16 | 31 |58 | 2 (32|47 |22 24| 6 | 5 | 6
Applicable Tube Dia AZH10B-06-06 | 63 | 18 |32 |58 | 2 |32|50 |23 26| 6 | 5 | 6

3 7|8

AZH13B-08-10 | 78 | 23 [38.5| 7.5 42| 61|27.5/ 28 | 10

Applicable Tube Dia
(EEEIME).0J




AIRBEST scrics HEARBE= Y43

Basic Vacuum Pump

AZH Series

PNEUMATICS

Dimensions (mm)(4MEZ R~ (X))
Box Style (Buit-in Silencer)&E (K &7 28)

%WA
® ; ‘@“ Screw-in Connection(241% )
Ny " Model®S) | A [ B |c|D|E|F|lG| H [a] ™M [k]|T
| AZHO5B-01-01| 68 | 16 | 39 | 5.8 | 2 [3.2] 47 [Re1/8|315|Ro18| 5 | 12
E ‘ AZHO7B-01-01| 68 | 16 | 39 | 5.8 | 2 [3.2] 47 [Rc1/8|315|Re1/8 | 5 | 12
@ © AZH10B-01-01| 71 | 18 | 40 | 58| 2 [3.2]50 |Rc1/8|33.5|Re1/8| 5 | 12
1] ! | AZH13B-01-02(86.5| 23 | 50 | 7.5 | 3 |42 61|Rc1/8|36.5|Re1/a | 7 | 14
G
Body Ported Style (Without Silencer)(BE &4 (T H A 58))
A } One-touch Connection (‘s Sk )
= Model(%/2) AlB|lc|o|e|Frlaln|L]|k]|uy
o AZH05D-06-06-06 | 58.5| 34 |142] 17 | 6 | 21 [ 32|24 | 6 | 22 | 6
H T H° AZHO7D-06-06-06 | 61 | 34 |14.2| 17 | 6 | 22 |32 |24 | 6 |22 | 6
H R c AZH10D 206-06-08| 55 | 37 [17.2] 20 | 6 |245| 42|26 | 8 | 23| 6
S

AZH13D p08-10-10 77945 4251 20 | 22 8 27 | 42| 28 | 10 |275| 10
AZH15D-10-12-12 | 93.3 | 47 |225| 27 | 10 [328| 42 [315| 12 |295| 12

Applicable ) . AZH18D-12-12-12 | 114 | 41 21 10 12 50 | 35 |355| 12 305 12
Tube Dia Applicable Tube Dia \ Applicable

EaEsE). EEEMD.0J Tube Dia AZH20D-12-16-16 [124.6| 46 | 27 12 12 |543| 35 |385| 16 |[32.7| 16
OE (BHEIME).OL

Screw-in Connection (1247 %4)

Model(2.2) AlB|lc|p|E|Fla|[H| L [K]|]UJ

AZH05D-01-01-01 | 73.5 | 41.5 [ 14.2 | 17 |Re1/8| 285 | 3.2 [315|Ret/8 | 22 [Re1/8

AZHO7D-01-01-01 | 76 |41.5[14.2| 17 [Re1/8| 205 | 3.2 [315|Ret/8 | 22 [Re1/8

AZH10D £01-01-01 82 [44517.2] 20 [Re/8| 33 | 4.2 [335|Re1/8 | 23 |Rotse

AZH13D £01-02-02| 342 | 54 | 20 | 22 [Ret/8] 385 | 4.2 [36.5| Ret/a [27.5|Re1/4

AZH15D-02-03-08 [116.5 585 | 225 | 27 |Rc1/4| 44.5 | 4.2 | 43 | Resss [20.5|Reass

AZH18D-03-03-03 | 133 | 525| 21 | 10 |Re3/8|57.5| 35 | 47 [Re3se [305|Reass

E J L AZH20D-03-04-04 | 151 | 61 | 27 | 12 |Rea/8|69.3| 35 | 50 [Rei/2 [32.7[Ret/2
Parameters(£%))

_KkPa | Air Supply Pressure | Air Consumption | Max.Vacuum Level RE B2 (—kPa) M EL 2 5 & (I/min) AEEZ E(-kPa)yl = B [ (s/)

Ef‘ﬁq_% (02l (?‘E};ﬁqﬁé) BAR=ZE) | o |10 |20 |30 | 40| 45|50 60|70 |80| 10|20 |30 |40]45]|50 60] 70

AZHO5S 13.5 /min 5 [45]41]38]33] - [23][16]09]03]0se[ 1732 5 | - [78]12 ] 19

AZHO7S 235 /min w2110 o 8] -]7]s5]21]osfoar] 1 [19] 3] - [54]67]15

AZH10S 46 limin 24 | 23 [e05[17.5[ 13 | - |15/ 95| 7 [25]025] 06 [125] 2 [ - |29 4673

AZH13S 78 limin -g8kPa | 40 | 35 [325[ 28 [ 23| - [195] 13| 9 [45] 01 [o2r[os3] 1 [ - [175]42] 73

AZH15S 97 fmin 60 [52.5[45.5] 38 [28.5] - |20.5]155]115] 5 [0.04]021]035]063] - [123] 41] 65

AZH18S 150 l/min 70 [ 62 52|45 |38 | - |26 | 22 [16585[0.02]0.15[0.20]0.46] - [078]138] 351

AZH20S it 185 /min 85| 76 | 67 | 58 [47.5] - |38 335] 19 [ 12 [0.02]0.12]021]034] - [o55[0.85] 158

AZHO5L 13.5 /min o s |76 |ato]-[-[-[-ose[1s]20]s1]ra] - ]-1-

AZHO7L 235 ljmin 20 [ 21]e0s[t5.5[105[68] - | - | - | - Joeslors|[15[25]as] - | - | -

AZH10L 46 limin s4 322619128 -] -]-]-Jom|oalosr[1a]1s] -] -1]-

AZH13L 78 limin -sgkPa |75 |72 |65 43|19 o [ - [ - [ - [ - [oo4[o12]oeafo62]24]| - | - [ -

AZH15L 97 fmin 80 [ 72 [ 60 [ 45 [365] - [16] - | - | - [oos]o15]023[ 04 [ - Joo2| - | -

AZH18L 150 /min 110[105] 95 [80 |55 | - [30] - [ - [ - [oo2]o10]o18los2] - [oer| - | -

AZH20L 185 /min 140[130[120[100[ 80 | - [62| - [ - | - [oo1]o0elo1a][02] - Jo3]| - | -

$TEETE 437




